Name: Section:

1.

4.

Natural selection produces evolutionary change by ...

a) changing the frequency of various versions of genes.
b) changing the number of new mutations.

c) producing genes needed for new environments.

d) reducing the effects of detrimental versions of genes.

. Please explain your choice for question 1.

How might a mutation be creative?

You are looking at some data, plotted on a graph. Are there any rules for

when you would connect the data points and when you would try and fit a line or
a curve to the data?

5.

Consider a diploid organism that is homozygous for a particular gene. How

might the
deletion of this gene from one of the two chromosomes produce a phenotype?

6.

a) If the gene encodes a multifunctional protein.

b) If one copy of the gene did not produce enough gene product.
c) If the deleted allele were dominant.

d) If the gene encoded a transcription factor.

You follow the temperature of a person for a 24 hour period, taking readings

every 15 minutes. You graph this data. Would you connect the dots or draw a
line that best fits the dots, and why?



response analysis: correct (“something new”) + irrelevant (“trait that isn’t common”)

response analysis: irrelevant statements only

response analysis: incorrect statements

response analysis: irrelevant

response analysis: irrelevant



































